Teen numbers: Bean problems

Gardener Gavin has 14 beans to plant. He plants 6 in the first row.
How many beans are left to plant in the second row?

Pita Planter has 13 beans to plant. He plants 6 in the first row.
How many beans are left to plant in the second row?

Gardener George has 12 beans to plant. He plants 5 in the first row.
How many beans are left to plant in the second row?
Farmer Frank has 11 beans to plant. He plants 5 in the first row.
How many beans are left to plant in the second row?

Gardener Greta has 15 beans to plant. She plants 6 in the first row.
How many beans are left to plant in the second row?
Farmer Fred has 15 beans to plant. He plants 8 in the first row.
How many beans are left to plant in the second row?

Paikea Planter has 14 beans to plant. She plants 6 in the first row.
How many beans are left to plant in the second row?

Pepe Planter has 14 beans to plant. He plants 7 in the first row.
How many beans are left to plant in the second row?

Pam Planter has 14 beans to plant. She plants 6 in the first row.
How many beans are left to plant in the second row?

Worker Wirimu has 17 beans to plant. He plants 8 in the first row.
How many beans are left to plant in the second row?

Gardener Gayle has 18 beans to plant. She plants 9 in the first row.
How many beans are left to plant in the second row?

Farmer Fiona has 14 beans to plant. She plants 6 in the first row.
How many beans are left to plant in the second row?
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